r.rA330

ACCES

son’

HONDA PCX 125 (2021)
3430/EX att. 3432/E

Wellnut low head

Plastic washer with collar

Bolt M5x25

Washer 18 thick 3mm

Washer @18 th.1,5mm

Hexagon head bolt MEx16

Wellnut high head

Plastic washer 16x10 thick.1

DN NININ G| O |

Support RH/LH

1+1

I(DCIJ'*JO'JU'I-P-(»JN—l

—

Gen-X® é un marchio registrato ( .- gl ’

F.FABBRI ACCESSORIs.r.l.

Via del Mangano 9 - 40023 Castel Guelfo di Bologna (BO) -
ITALY

Tel. 439 0542 670236 - +39 0542 670201

www fabbriaccessori.com - e-mail: info@fabbriaccessori.com

Remove the front molding by unscrew the two self-
tapping screws located under the tip of the original
windshield.

Then push the plastic down very carefully to free and
remove the original screen.

NB. CARRY OUT THESE DELICATE OPERATIONS
AT A WORKSHOP IS SUGGESTED; RISK OF
BREAKING OF THE JOINTS.

1) At point “A” insert the washer 4
and at point “B” insert the threaded
rubber 1

2) fasten (without tightening) the
plate using the 18 washer and the
M6x16 hexagonal head screw for the
"A" position, while for the "B"
position use the plastic washer and
the M5x25 hexagon socket screw

3) fix the holder, insert in then
mount the front molding and fix it
with the two original self-tapping
screws.

4) finally, add the thin plastic
washers n°8behind wellnuts and
plate; then fix the windshield using
the provided black plastic washers
and M5x25 screws

ATTN: Point "C" is not used

THE FIGURES REPRESENT THE LEFT SIDE OF THE ASSEMBLY;
RIGHT SIDE IS SPECULAR




